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No Option & Answer (With Options) Correct Answer

1 Which of the following is not included in the spectrum of electromagnetic (C) Ultrasound waves
waves ?
(A) Radio waves

(B) Gamma rays

(C) Ultrasound waves

(D) X-rays

2 ‘¢ LAl allgatall euAyAdLAll AR [@seu Al B nReell ey
(A)  wReell oteud)
(B) el weu?
(C) Wl wad
(D) Wl wax 8

3 Outer valence shell electrons are responsible for which of the following (C) Thermal properties
properties of atom ?

(A) Radioactivity

(B) Characteristic X rays

(Q) Thermal properties

(D) None of the above

4 I am very hungry. | have taken .............. today. (C) nothing
(A) anything
(B) everything
(C) nothing
(D) something

5 Which of the following metal is used to make anode in X ray tube used in (D) Both AandB
diagnostic radiology ?

(A) Tungsten

(B) Copper

(C) Molybdenum

(D) BothAandB




(A)
(B)
(€)
(D)

As woell NSl WS oizde ollet, S8l AU (32 Sluui (EXsHD)
20 NSl B. olirde olld wa §l8l Ul 12 Wetsl B. a8l wua B¥e
Ul 11 NS B. (332 ual slzde olld -l 10 Relsl B. 5 WSl
A U A B, Al g5ct (332 Ll Neuslell Avat 0.

5

4

3

2

(B)

(A)
(B)
(€)
(D)

Which artefacts in MRI occur due to metallic implants ?
Chemical shift artefact

Motion artefact

Aliasing artefact

Magnetic susceptibility artefact

(D)

Magnetic susceptibility
artefact

(A)
(B)
(€)
(D)

Which gas is used in x ray tube ?
Oxygen

Nitrogen

Helium

No gas is used, vacuum is required

(D)

No gas is used, vacuum
is required

(A)
(B)
(C)
(D)

Which of the following has the highest attenuation coefficient ?
Soft tissue

Lead

Bone

Air

(B)

Lead

10

Ya’ oeall WA Aol 2ce waldl
uin
i
uell

uiuel

(D)

uiuel

11

(A)
(B)
(€
(D)

Which of the following has the maximum amount of absorbed dose ?
Chest X Ray

CT head

Barium enema

CT Abdomen

(D)

CT Abdomen

12

dRlell eHeHal M2 58 uslalla deell SclolER 8 ?
atdtaRella uRtadet

dlctaRella agletcet

Yrlelde

YelAldRs uRledet

(B)

aldtaRela asletctst

13

(A)
(B)
(C)
(D)

Which of the following is the Sl unit of effective dose ?
Rad

Gray

Sievert

Candella

(€

Sievert




14

AlRcloll ecyd astytilet {RARYeUs tugell wxtl sal «un
elldl ® 2

AUFY el

et ute

@ we

UeA e

(D)

B Ule

15

(A)
(B)
(€)
(D)

Which of the following metal can be used in radiation protection devices
like Aprons, goggles, thyroid shield ?
Lead

Tin
Barium

All of the above

(D)

All of the above

16

(A)
(B)
(€)
(D)

Heat loading of an X ray tube is equal to -
kVp2 x mAs

kVp/mAs

kVp x mAs

kVp x mAs2

(€

kVp x mAs

17

sl 3UA ‘€U AE’ sA B ?
sl

gala

llda

Yscisal

(B)

gl

18

(A)
(B)
(C)
(D)

Which of the following is used as lubricator in rotating anode ?
Mineral oil

Water

Powder of silver metal

Powder of Barium sulphate

(€

Powder of silver metal

19

(A)
(B)
(€
(D)

Change the Gender: ‘dog’
dogee
bitch
beach
dogey

(B)

bitch

20

(A)
(B)
(€
(D)

Which of the following has the least half value layer (HVL) ?
Bone

Soft tissue

Lead

Air

(€

Lead

21

alitllyA A yaH sl WM UL &dl ?
Qauoie

oA

Al UA

slAR0

(D)

SLRA




22 Which of the following types of generator are used in modern x ray (D) High Frequency
machines ? generator
(A) Single phase self rectified
(B) Single phase half wave rectified
(Q) Three phase six pulse
(D) High Frequency generator
23 Which of the following interaction of X ray occurs most commonly in soft (B) Compton Scattering
tissue at diagnostic level ?
(A) Photoelectric effect
(B) Compton Scattering
(Q) Rayleigh Scattering
(D) Pair production
24 Which of the following artefact is related is due to highly attenuating (B) Streak artefact
metal object ?
(A) Motion artefact
(B) Streakartefact
(C) Partial volume
(D) Cone beam artefact
25 U UG % ol A v cisell Rutd ol (O Auma coa
(A) @
(B) uHR
(C) A
(D) Aua cud
26 Which of the following artefact is not significant in multislice CT scanners ? | (B) Ring artefact
(A) Photon Starvation
(B) Ringartefact
(C) Motion Artefact
(D) Cone beam artefact
27 dacl digsl oA AU sAL (FeatHi A B ? € oetlole
(A) s
(B) edetorR
(C) oellole
(D) WRoieR
28 Which of the following is the correct order of developing X ray film ? (A) Developer-Fixer-
(A) Developer-Fixer- Washing-Drying in light Washing-Drying in light
(B) Exposureto daylight-developer-fixer-washing-drying
(Q) Washing-Drying-fixer-developer
(D) Fixer-Developer-Washing-Drying in light
29 diot-Qetaell cudelle aduirk @O Q&R sal RFectdi wad B ? O quasoR
(A) Yd
(B) Ruwsle
(C) w&duwu
(D) eudotoR
30 Which of the following is true in process of developing an X ray film ? (B) Inadequate washing
(A) Xray can be kept in developer for an indefinite period of time leads to retained
(B) Inadequate washing leads to retained hyposulfite causing x ray film to turn hyposulfite causing X. ray
brown with time. film to turn brown with
(Q) Reducing agent is used as fixer time.

Acid solution of thio-sulfate is used as a developer




31 Which of the following is not true regarding an intensifying screen ? (D) A satisfactory X ray
(A) Calcium tungstate is the traditional phosphor used image can be produced
(B) Rare earth elements can also be used as phosphor gven VYit_hOUt an
(Q) Normal X ray cassette has two intensifying screens intensifying screen
(D) A satisfactory X ray image can be produced even without an intensifying
screen
32 YWdlA WdeteR Ylotst 1Al clselell Y250l A [@Ascu L. ©  yddl wa »daserR
(A)  wddledl »aster Ylaist 1w alloisi H2Leall
(B) wddllell ellatsi HRAQ
(C) wddl wA Yaster Llaisi 12
(D) wddle] Waet olotg &d
33 Which of the following method reduce the amount of scattered radiation ? | (D) All of the above
(A) Grid
(B) Airgap
(C) Collimator
(D) Allof the above
34 Fifty thousand rupees ..................... a large sum. (B) is
(A) are
(8) is
(C) were
(D) wase
35 Which of the following investigation is used to study female reproductive (A) HSG
organs ?
(A) HSG
(B) Barium meal
(C) P
(D) Retrograde Urography
36 ARl U citetgwl Elelladl ARl s A udal sraunl A elzeuds sls?
el ?
(A)  Hl3eus sls? AU WRcd AS Al wRac
(B) Ul oAl uld AA§ AL
(C) AsccA wlwigrel U Adls
(D) dget Qw8l AR UoHlol AAS
37 Which of the following investigation has best spatial resolution ? (C) CT Scan
(A) conventional X Ray
(B) Digital X Ray
(C) cTScan
(D) Fluoroscopy
38 Which of the following investigation has the best contrast resolution ? (D) CT Scan
(A)  Fluoroscopy
(B) Digital X ray
(C) conventional X ray
(D) cTScan
39 Which of the following is true regarding CR ? (B) Compared to
(A) Ithas more installation cost than DR conventional x ray it has
(B) Compared to conventional x ray it has wide dynamic range wide dynamic range
(Q) Compared to conventional X ray it has more spatial resolution

(D)

No separate stage for reading the plate is required




40 g6letl Yy catgll weudl. (B) e, ctua
(A)  dadl, deugt
(B) A, cua
(C) Rl wae
(D) @&, ol
41 Reverse Towne’s view is — (A) Occipito frontal-30
(A) Occipito frontal-30 degrees angulation in cranial direction degrees angulation in
(B) Occipito-frontal- 30 degrees angulation in caudal direction cranial direction
(C) Fronto-occipito-30 degrees angulation in cranial direction
(D) Fronto-occipito-30 degrees angulation in caudal direction
42 AL A 1P AJA 32cll olles] tad] QA B ? € 32
(A) 8
(B) 16
(c) 32
(D) 64
43 Which of the following is true regarding DR system ? (B) Silicon thin film
(A) Itis cost effective compared to CR system transistor arrays are
(B) Silicon thin film transistor arrays are used used
(C) Photostimulable phosphors are not used
(D) Itrequires higher dose compared to CR
44 ABCD i (A>Z=26->1) YHIQ Sl A=S,F=X,D=Vaa Al I=.......... (A) R
(A) R
(8) !
(© s
(D) Q
45 Which of the following is true regarding Water’s view ? (A) Occipto —mental view
(A) Occipto -mental view with open mouth with open mouth
(B) Fronto-occipital view
(C) Submento-verical view
(D) Occipital frontal view
46 wWiEl esell ekl (B) (3xal
(A) a0l
(B) (Rua
(C)  uqgeyd
(D) RAgR
47 Which of the following salt of barium is used in fluoroscopy studies ? (A) Sulphate
(A) Sulphate
(B) Sulphide
(C) Chloride
(D) Phosphate
48 Give plural form of : ‘index’ (sign in algebra) (A) indices
(A) indices
(B) indexese
(C) indesis
(D) indexis




49 Which of the following is used an oral positive contrast agent in CT and (B) lohexol
fluoroscopy studies ?
(A) Air
(B) lohexol
(C) Mannitol
(D) Water
50 7.5% AW s U] USAL o] Ul 3. 600 AU B, Al A cAne] (B) 3 1245
USY(& U 3. coverrrrernrrrennn. AL,
(A) 3. 900
(B) 3.1245
(C) 3.645
(D) 3. 1200
51 Which contrast agent is negative contrast agent ? (B) Air
(A) Barium
(B) Air
(C) lohexol
(D) Wwater
52 ‘A3l Al ABA Blot HFlA ALl sdctdoll wAU wudeudl [Aseu © Qs stadl Ancal
A, et WL sl Ascll
(A) el wslR ARl oll MWsELA
(B) Qot o yeucllet daA B
(C) aSs slael Anaal ¥di HWal sl Ascll
(D) AR wella aadl slA€l
53 Which of the following implants are MRI compatible ? (C) Titanium
(A) Iron
(B) Stainless steel
(C) Titanium
(D) Ferrous
54 When is the Nephrogram phase of IVP examination taken ? (B) Itistaken 1-3 minutes
(A) Itis the first X ray taken at the beginning of the examination after injection of the IV
(B) Itis taken 1-3 minutes after injection of the IV contrast contrast
(C) Itis taken 10 minutes after the injection of IV contrast
(D) Itis not necessary in IVP examination
55 What does 128 number indicate in 128 slice CT scan machine ? (A) Number of detectors
(A) Number of detectors
(B) Number of sections that can be seen in CT
(Q) Number of times x ray tube rotate around the patient
(D) Number of rows of detectors
56 didal sl AR sl oll@olln Aot ad dide] drdl@s, Qe U | (€ sl Jos UR
Aol Beell o QU] uldllol U 2
(A) o 3o UR
(B)  Yual 3os U Ascll Jost LA
(C)  asdl ¥os UR
(D) vl o ol ystalla 3o




57 Which type of CT scan machine is used in modern multislice CT scan ? (C) Third generation
(A) First generation
(B) Second generation
(C) Third generation
(D) Fourth generation
58 Ylletrofl YRet clu 2ol ol wUsEAS Y A Ayl (P) 3. 2.00cw
@Qsciotctott (Brauui 3zt 3Mae] lul 28el AUl a8 ?
(A) 3. 125w
(B) 3.1.75¢cw
(C) 3. 2550w
(D) 3. 2.00 ctw
59 Which of the following is the attenuation number of water ? ) o
(A) 150
(B) 1000
(c) o
(D) 200
60 WA uGR A trieerl A 58 ocetsalal vial d ? @) yradl2ix
(A)  HAcl »a
(B)  utatcllell atcues
(C)  os2call allet
(D) uRradlx
61 Which of the following is an ionic contrast medium ? (B) Diatrizoate
(A) lohexol
(B) Diatrizoate
(C) lopamidol
(D) None of the above
62 Which of the following examinations require the use of oral positive (B) Barium Meal
contrast agents ?
(A) Micturating Cystourethrogram
(B) Barium Meal
(C) Ivp
(D) HSG
63 Which of the following is not a synonym of ‘Pious’ (D) Unholy
(A) Devout
(B) Godly
(C) Religious
(D) Unholy
64 Which of the following is true regarding contrast reactions ? (D) Non ionic contrast
(A) Anaphylactic reaction is the most common reaction media are safer than
(B) Contrast reaction are more common with non ionic contrast media ionic contrast media
(Q) History of previous contrast reaction is not significant

(D)

Non ionic contrast media are safer than ionic contrast media




65
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66

(A)
(B)
(€)
(D)

What is full form of MRI ?
Magnetic Resonance imaging
Magnetized Regional Imaging
Magnet Reared Imaging

Non of the above

(A)

Magnetic Resonance
imaging

67

(A)
(B)
(€)
(D)

‘0 GUR g 3(3ylolell uLA el M.
vl % Gl oleld

WelR ol EulA Ag

$lotel QA A

dletdel ot 8l

(A)

Yol % Gellalol tlold]

68

(A)
(B)
(C)
(D)

Which of the following is a T2W sequence ?
IR sequence

FAT SAT sequence

STIR sequence

PD

Ysl RE S¥A B.

69

(A)
(B)
(€
(D)

Which of the following appears bright on TIW sequence ?
Fat

Water

Muscle

Nerve

(A)

Fat

70

(A)
(B)
(€
(D)

Which of the following investigation should not be performed with iron
foreign body in eye ?
MRI

CcT
Fluoroscopy

Xray

(A)

MRI

71

WS LA, (32 gallNod - 20174(l 5EASTU ol AS A Ml
$12ala] ollid Rl

olldx ote(lR

AR 2l

YRl el

3cls clol?

(A)

aldH oiedlR

72

(A)
(B)
(€)
(D)

Which of the following views is not used for X ray shoulder ?
Arp pit view

Lateral scapular view-Y view

Oblique view

Lateral view

(D)

Lateral view




73 %82l AAUL SLAHL 32l YAl URAML B ? () 33
(A) 31
(B) 33
(c) 32
(D) 34
74 What is true regarding radiation protection devices ? (D) They give protection
(A) They can be used indefinitely without any quality testing only against scatter
(B) They have to be folded and properly placed after use radiation
(Q) They give protection against primary X ray beam
(D) They give protection only against scatter radiation
75 =l Asell el © ol
(A) dol@y
(B) sy
(C) oy
(D) dwely
76 Which of the following X ray is used to demonstrate apices of lung ? (D) Lordotic
(A) ChestAP
(8) PA
(C) Lateral
(D) Lordotic
77 Which of the following artefact can be minimized by application of (B) Artefacts from pulsating
saturation bands in MRI ? artery
(A) Phase Wrap
(B) Artefacts from pulsating artery
(C) Chemical Shift artefact
(D) Truncation artefact
78 | am a fast bowler, .............. 1? (C) aren’t
(A) amn’t
(B) isn’t
(C) aren’t
(D) don’t
79 What is AP mortice view of Ankle radiography ? (A) Obtained with 20
(A) Obtained with 20 degree internal rotaion degree internal rotaion
(B) Obtained with 20 degree external rotation
(C) n standard AP projection without any sort of rotation
(D) There is overlap of tibia and fibula in this view
80 12y ANl Al Wl AR ofslet sl AZRA U & ? (A) Qe
(A) Rl
(B) wiottL
(C)  nataR
(D) =Rxsle
81 How can we overcome aliasing artefact in MRI ? (A) Increasing FOV
(A) Increasing FOV
(B) Changing frequency and phase encoding direction
(C) Application of saturation bands

(D)

Increasing frequency bandwidth




82

AHA GUR 2L U cAlclslRs sliot Ul M2 2ol GuAlol sl B ?
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VUL Wl ALULES

83

(A)
(B)
(€)
(D)

Which of the following is a device to measure individual dose of an
employee ?
Pentameter

Densitometer
Thermo-luminescent dosimeter

lonizing gas chamber

(€

Thermo-luminescent
dosimeter

84

(A)
(B)
(C)
(D)

Which of the following will not cause unsharpness in the film
Increasing phosphor thickness

Increasing object film distance

Using longer FFD

Using large focal spot

(€

Using longer FFD

85

(A)
(B)
(C)
(D)

Which of the following X rays will need high kVp ?
X ray Nasal bone

Xray Hand Ap

X ray Chest AP

X Ray Spine Lateral

(D)

X Ray Spine Lateral

86

AletoldR [Beala sal Bectlell s Hadl Rualdl) o2l ?
Rl

MELL

Awsle

AQHIY Asul o8l

(€

Awsle

87

(A)
(B)
(C)
(D)

What is the effective annual dose for employees ?
20 mSv

1 mSv

13 mSv

20 mGy

(A)

20 mSv

88

(A)
(B)
(C)
(D)

gloulelslaMl stolot alollegjotoll didla RARAL J2cl diuMiet ¥l
glal 1A & ?

4100 K

3100 K

5100 K

6100 K

(B)

3100 K

89

(A)
(B)
(€
(D)

Which of the following group of employees will have highest occupational
doses ?
X-ray technicians

CT technicians
Radiologists

Interventional radiologists

(D)

Interventional
radiologists

90

(A)
(B)
(€
(D)

AR + uel ceo(l AR A5\
(Qrauisf

@Qrasl

Qe

@Rl

(B)

(AQrerel




91 What is the SI unit of magnetic field ? (B) Tesla
(A) Gray
(B) Tesla
(C) Newton
(D) Joule
92 Which of the following is required to reduce motion artefacts ? (C) Breath hold
(A) Increasing kVp
(B) Increasing mAs
(C) Breath hold
(D) Increasing focus film distance
93 Antonym of: ‘Famous’ (C) Obscure
(A) Nonfamous
(B) Well-known
(C) Obscure
(D) Unfamous
94 Which of the following is true regarding fluoroscopy ? (B) Pulsed fluororscopy is
(A) Over-couch x ray tubes give less radiation dose to the operator as preferred over
compared continuous fluoroscopy
to under-couch x ray tubes
(B) Pulsed fluororscopy is preferred over continuous fluoroscopy
(C) Inputscreenis smaller than output screen
(D) Size of input screen is always fixed
95 ollett urdet wuAdl 4.5 HleR g2 Gell B, Al ollett UA Aot wAw | (€ g0l
dRa] vdR ¥ed & ?
(A) a.5Hle?
(B) 2.25 Hle?
(C) 9.0Mle?
(D) s.4dleR
96 The process by which cathode filament releases electrons in a X ray tube is | (D) Thermo-ionic emission
known as -
(A) Luminescence
(B) Phosphorescence
(C) Thermoluminscence
(D) Thermo-ionic emission
97 AU N AcEo(l AR A, (A) e + A
(A) AU + AUN
(B) AuHUL + AUUN
(C)  Aunl + A
(D) aw: + Aun
98 Which of the following is true regarding pediatricX rays ? (C) Grid can be avoided
(A) kVp and mAs are kept same as adults
(B) CTscancan be preferred over X rays
(C) Grid can be avoided
(D) Allof the above
99 The loud bang sound heard from MRI machine is due to (B) Gradient coils
(A) Radiofrequency coils
(B) Gradient coils
(C) Shim coils

(D)

Surface coils




100 Which of the following is the cause of film fog ? (C) Unintended exposure of
(A) Improper washing of the film film during
(B) Too long time for development Eﬁaanndl:;‘s;turing or
(Q) Unintended exposure of film during manufacturing or handling
(D) Wrong x ray technique
101 Aot 2018 A g eUlets flRYR sl Feecuui 2Ad B ? A dlaorR
(A) Helawor
(B) @3u
(C) ol AHeua
(D) WRoieR
102 What can occur if the film is immersed in developer for a long time ? (A) The film will turn dark
(A) The film will turn dark
(B)  The film will turn white
(C) There is no effect on the image quality
(D) The film will turn brown with time
103 ABARML AUHELAE AZRHL URURNA A ollsAE &AL YLREHL (A) yRen @
Aol YuA(lAl 58 wifls [Qll sal olte u2aL6{l 2A32Ud s ?
(A)  uldee (Al
(B) uofrsiet @t
(C) A @l
(D) =id(lst (el
104 What is the minimum distance from patient to be followed in portable x (B) 2m
rays for general public, other patients and staff ?
(A) Im
(B) 2m
(C) 0.5m
(D) No need to keep distance from X ray source
105 2l @i 53A USL 5As B A AL ste UG saul sl B 2 (D) o3
(A) edudpAH
(B) oldcRn
(C) 3cRAM 6. g
(D) e
106 Radiographic contrast can be increased by (A) Compression technique
(A) Compression technique
(B) Increasing tube voltage
(C) Decreasing mAs
(D) Using X ray cassette without intensifying screen
107 X ray attenuation process follows the (D) All of the above
(A) Inverse square law
(B) Exponential process
(C) Intensity never reaches to zero value
(D) Allof the above
108 They aevvceecevecnnene (to play) cricket since morning. (C) have been playing
(A) has been playing
(B) has played
(C) have been playing

(D)

have played




109

(A)
(B)
(C)
(D)

Which of the following is the following form major part of X ray spectrum
?

Characteristic radiation
Bremstrauhling radiation
Both are in equal proportion

Depends on the target material used

(B)

Bremstrauhling
radiation

110

MS PowerPoint Exclld%al 9 53 & ?
qselle

NECRE

EABS

2uc

(€

REAUYS

111

(A)
(B)
(C)
(D)

How is the photoelectric effect increased ?
Increasing Effective energy of spectrum
Decreasing atomic number

Use of contrast media

Increasing electron density

(€

Use of contrast media

112

(A)
(B)

(D)

AU Ll AR vleell scll.” atsaHidl 2uildd (ANl ust?
QU .

edsalus

Ada@s

AuALalAs

oJRLallUS

(B)

Aldat®s

113

(A)
(B)
(€
(D)

In which of type of following X rays, there is no need of grids ?
Chest X ray PA

X ray Spine lateral

X ray Elbow lateral

X ray Chest lateral

(A)
(€

Chest X ray PA

X ray Elbow lateral

114

(A)
(B)
(€
(D)

The quality of X ray beam does not depend on the
Peak voltage

Filtration

Tube current

Anode target material

(€

Tube current

115

(A)
(B)
(C)
(D)

What is the total amount of filtration used in a X ray Tube ?
2.5 mm equivalent of Aluminium

1.5 mm equivalent of Lead

2.5 mm equivalent of Copper

6 mm equivalent of Aluminium

(A)

2.5 mm equivalent of
Aluminium

116

g2t AxAatl YuAA(3(l [QAaeus 3wllell USIR slRL % scUML
WA BELSUN 2017-18 Wocd 58 AlNoll §601

dRwe ool ateillell Yeustd At Ul HI2 3. 4.00 sAse(l
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sl AL €9let 20oall

oo sl flel Alogall

sl led e9let 2Aloetl
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siclel {19 oelet
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117 Which of the following bone is better demonstrated on Skyline projections | (C) Patella
?
(A) Mandible
(B) Clavicle
(C) Patella
(D) Scapula
118 GlRcloll Yelltlotal llRcloll el Mol ULl dlRLelMi 2 B. (A) 15 Aore
Yellollal WUEd scll A Aol Gesy U2 Gxclldl ‘SoeaA e
YU 3 SR HotlclelHl WA B ?
(A) 12,00
(B) 15, yeue
(C) 14, vsAuR
(D) 13, AR
119 Which is the correct position of X ray bilateral Sacroiliac joints ? (A) Prone with x ray tube
(A) Prone with x ray tube angled 5-15 degree cephalocaudal angled 5-15 degree
(B) Same as xray Pelvis with both hips cephalocaudal
(C) Leftlateral position
(D) Frog’s position
120 AGEAYS UI2 A AcEoll AR [Aseu UAE 5A: Uslotoll JUURIU ©  gell
aieiel -
(A) e
(B) u
(C) gell
(D) =l
121 The safety light in dark room is - (A) Redlight
(A) Redlight
(B) Bluelight
(C) Greenlight
(D) Yellow light
122 High kVp technique is used for - (A) Fatty patients
(A) Fatty patients
(B) Extremities
(C) Nasal bone
(D) Paediatric patients
123 Singular form of ‘dies (stamps for coining)’ is ......cc.ceeeeuees . (C) die
(A) dye
(B) dead
(C) die
(D) dai
124 Which X ray is used to demonstrate first and second cervical vertebra ? (B) Open mouth Antero-
(A) Lateral C- Spine x ray posterior view
(B) Open mouth Antero-posterior view
(C) Cervical spine AP

(D)

Oblique view




125

wA-B 3 satiell Aoeua B ?
doiru@ Actuiell

i@ ue{luiell

vy ddell sugAMi
dotruld Aal wilGRAui

(D)

doiu(d el
SUEENEIEN

126

(A)
(B)
(€)
(D)

Which of the following x ray view is ideal to visualize pars interarticularis
and apophyseal joints ?

Posterior oblique view

Antero-posterior view

Lateral view

Flexion view

(A)

Posterior oblique view

127

(A)
(B)
(C)

Aeuetss ctet EUSe] GUaltH ¥l
Yu3d

ol 9ALM

wWleR(M

el deie

(€

als2AM

128

(A)
(B)
(C)
(D)

Which of the following is the source of radiation for employees working in
X ray department ?

X ray Tube
Patient
Both Aand B

None of the above

(A)

X ray Tube

129

(A)
(B)
(C)
(D)

The ideal position of Grid is -

Between X ray tube and patient near the X ray tube
Between X ray tube and patient near the patient
Between the patient and the X ray film

Behind the X ray cassette

(€

Between the patient
and the X ray film

130

(A)
(B)
(C)
(D)

Which of the following can distinguish between Chest X ray AP and PA ?
Horizontally lying clavicles in PA view

Heart shadow is larger in AP view

Posterior ends of ribs are better visualised in AP view

All of the above

(B)

Heart shadow is larger
in AP view

131

w22 AAHT AR UM WA AELA RUR AAUWAAL YL UALESIR
ddl3 slaL sid 52 B ?

AR UM sl [Ysd calsa

yul AR

Adlal B GR

slcll Y Al AAUSSIR

(B)

Hul AR

132

(A)
(B)
(C)
(D)

Which of the following investigation requires compression by binder ?
Barium meal

HSG

Barium enema

VP

(D)

IVP




133 Hofrtofl wiwMl clre] UlQlolet Slotl UR U B ? ©  Axued
(A) wsRu
(B) sl8l
(C) aaued
(D) selll@st
134 Which of the following view is not used in Skull radiography ? (C) Hobb’s view
(A) Caldwell,s view
(B) Towne’s view
(C) Hobb's view
(D) Water’s view
135 ‘SR BA SR JaAn As o & UASRA UsR [Ascunigl k. (A uetotay
(A)  stoad
(B) Guwt
(C) Gaau
(D)  ™AuLL
136 Which of the following is the correct view of optic foramen ? (A) Postero-anterior view
(A) Postero-anterior view with mid-sagittal view making an angle of 35 with mid-sagittal view
degrees with vertical making an angle of 35
(B) Anteroposterior view with neck 20 degrees flexed degrees with vertical
(C) AP view with xray beam 15 degree craniocaudally
(D) PAview with 15 degree caudocranially
137 Which of the following interaction leads to complete absorption of X ray (A) Photoelectric effect
beam ?
(A) Photoelectric effect
(B) Compton scattering
(C) Coherent Scattering
(D) Pair production
138 Isn’t our civilization the .........ccccceeeeee. civilization ? (C) oldest
(A) old
(B) older
(C) oldest
(D) mostold
139 Stenver’s view is used to visualise - (A) Petrous temporal bone
(A) Petrous temporal bone
(B) Mastoid air cells
(C) Sphenoid bone
(D) Foramen magnum
140 slAoll QU o Ad Uslale] [Qetsel 48 HaOdl agiuedl Heaui sal | (B) Q)
00all ustal sl ® ?
(A)  auRall
(B) dla
(C) aedl
(D) <A




141

(A)
(B)
(C)
(D)

Which of the following examination makes use of both positive as well as
negative contrast agents ?
CECT brain

HSG
Angiography

Barium meal

(D)

Barium meal

142

Qaaildetl s@ Guieis: Ml sorzun suul.
satl0ll

GU6

slaldl

GHRU

(D)

ATRITE

143

(A)
(B)
(€)
(D)

X ray for Styloid process is ?
Caldwell view

Water view

Towne’s view

Stenver’s view

(€

Towne’s view

144

(A)
(B)
(C)
(D)

Which of the following metal is used as an added filtration in X ray tubes ?
Lead

Aluminium

Copper

Tungsten

(B)

Aluminium

145

(A)
(B)
(C)
(D)

Which of the following procedure requires intravenous contrast agent ?
Barium meal

Barium enema

HSG

IvP

(D)

IVP

146
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147

(A)
(B)
(C)
(D)

Which gas is used as a coolant in MRI superconductor ?
Oxygen

Helium

Nitrogen

Carbon dioxide

(B)

Helium

148

@eel setloll Ul catcRaust W ARNEl otint g 8 2
AUALE 512 SloreR AAxNo2 (ASIAN)

Slélse A2 SR Sl Ao (SlASIAN)
Slélse Slxie: AN AU (SlSlAUR)
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(€
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149

(A)
(B)
(€
(D)

Who is credited to discovery of X rays ?
Godfrey Hounsefield

William Roentgen

lan Donald

Benjamin Felson

(B)

William Roentgen




150 Which of the following investigation is not using radiation ? (D) MRI
(A) CTscan
(B) Fluoroscopy

(C) Conventional X ray
(D) MRI
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